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QUESTION 1

Which of the following about the conditions that trigger rerouting on NG-SDH equipment?
A.R_LOS, R_LOF

B. RSBBE, MSBBE

C. MS_AIS, MS_RDI

D. AU_AIS, AU_LOP

E. HP_UNEQ, HP_LOM

Correct Answer: ACD

QUESTION 2

To objectively evaluate the performance of a network packet switching device, define test methods, and test report
formats, you need to perform RFC 2544 performance tests. What does an RFC 2544 test cover?

A. Throughput

B. Packet loss rate

C. Latency

D. Back-to-back

E. Maximum frame rate (line rate)

Correct Answer. ABCD

QUESTION 3

What may cause the HP_LOM alarm?

A. Services are not configured on upstream NEs.

B. The service level is set inconsistently at both ends.

C. The C2 byte to be transmitted on the terminal NE is 0x00, and the pass-through NEs are set to pass through the
overhead.

D. The board (for example, a cross-connect board) is faulty, resulting in loss of the H4 byte or incorrect H4 byte.

Correct Answer: BD

QUESTION 4
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A service created using the trail function will not become a discrete service.
A. TRUE
B. FALSE

Correct Answer: A

QUESTION 5

PQ1 must work with an interface board. Which of the following is a 75-ohm interface board?
A. D75S

B. D12S

C.D12B

D. D34S

Correct Answer: A

H31-321 VCE Dumps H31-321 Exam Questions H31-321 Braindumps

H31-321 VCE Dumps | H31-321 Exam Questions | H31-321 Braindumps 3/3


https://www.pass2lead.com/h31-321.html
https://www.pass2lead.com/h31-321.html
https://www.pass2lead.com/h31-321.html
http://www.tcpdf.org
https://www.pass2lead.com/h31-321.html
https://www.pass2lead.com/h31-321.html
https://www.pass2lead.com/h31-321.html

